#### Montana Public Service Commission



Brad Johnson - Chairman Travis Kavulla - Vice Chairman Roger Koopman - Commissioner Bob Lake - Commissioner Tony O'Donnell - Commissioner

June 5, 2017

Matthew W. Miller President Miller Oil Company PO Box 408 Culbertson, MT 59218

RE: Miller Oil Company d/b/a The City Line Monthly Propane Gas Cost Tracker Adjustment

Enclosed please find the approved tariff schedule listed as follows:

Schedule M - Sheet No. 138, Cancelling Sheet No. 137

Docket No.:

D2017.2.11

Staff Approved:

June 1, 2017

Effective:

May 25, 2017

Please note that the monthly tracker docket number, D2017.2.11, will be effective for the period January 1, 2017 through December 31, 2017.

MONTANA PUBLIC SERVICE COMMISSION

Sandy Scherer

Centralized Services Division

(406) 444-6180

Enclosure

## Miller Oil Company Inc

PO Box 408

120 1<sup>st</sup> Avenue East 406-787-6271

Culbertson MT 59218

RECEIVED

MAY 30 2017

MONT. P.S. COMMISSION

May 25, 2017

Subject:

Letter of Transmittal of Miller Oil Company dba City Line

Monthly Gas Tracker Adjustment for Propane Service

In Culbertson, Montana Service Area

Miller Oil Company dba The City Line, hereby transmits its tariffs implementing the monthly gas tracker adjustment applicable to rates and charges for propane service in its Culbertson, Montana service area. The attached gas cost worksheet shows that during the month of May 2017, City Line's average cost per cf for propane was \$.01188, last month's average cost of propane was \$.01708 per cf. The average monthly cost of propane decreased \$.0052.

The rates and charges to be assessed customers of The City Line for the month of May 2017 have been decreased by \$.0052 per cf. These changes are reflected on the attached tariffs which are to be effective for billing on and after May 25, 2017.

If you have any questions or need additional information please contact me.

Sincerely,

Vicki Miller, Secretary

### **Public Service Commission of Montana**

Miller Oil Company DBA The City Line

Sheet No. 138
Cancelling Sheet No. 137
PROPANE SERVICE

#### Schedule M

Availability: For the Community of Culbertson, Montana for all purposes except resale.

Rate:

Applicable to all residential and small commercial customers.

**Quantity Charge** 

Residential Non Gas Cost Margin. \$ .00738

Current Propane Cost per cf \$ .01188

Gas Cost Tracker Adjustment (D2015.1.12) (\$ .00077)

For all usage per cubic foot. \$ .01849

Applicable to School(s)

Standby Charge......\$49.75/per month

**Quantity Charge** 

School Non Gas Cost Margin\$ .00094Current Propane Cost per cf.\$ .01188Gas Cost Tracker Adjustment (D2015.1.12)(\$.00077)For all usage per cubic foot.\$ .01205

The Customer Charge and Standby Charge is applicable to all metered propane service. It is a readiness to serve charge which is added to the charge computed.

Issued: / )ay

(DATE)

(SIGNATURE OF OFFICER OF UTILITY)

Staff Approved: June 1, 2017 Docket No.: D2017.2.11

Accepted as filed. No Commission action required.

Effective for bills rendered on or after May 25, 2017

PUBLIC SERVICE COMMISSION

Administrative Assistant

MAY 2017

# MONTHLY GAS COST TRACKER COMPUTATION WORKSHEET Commodity Cost Gallons Cost per Gallon Co

Det transport	Commodity Cost			Cost per Gallon		Cost per cf	
Beginning Inventory Balance		7,946.98	16,200	\$	0.49055	\$	0.01348
Purchases by Vendor							
PLAINS 44787	\$	5,272.09	11,587	\$	0.45500	\$	0.01250
	\$	<del>-</del>	-	\$	-	\$	-
	\$	<u>-</u>	-	\$	-	\$	-
		0.00	=	\$	-	\$	-
	\$	-	-	\$	-	\$	-
	\$	_		\$	_	\$	
	Ψ			Ψ	-	Φ	-
	The second second						
	\$	-				\$	-
	\$	-				\$	-
	\$	-				\$	-
	\$ \$	-				\$	-
	\$	_				\$ \$	-
	\$	_				\$	-
	\$					\$	_
	\$	-				\$	<b>-</b>
	\$	-	Land Control of the Control			\$	-
	\$	_				\$	-
Total	\$	13,219.07	27,787	\$	0.47573	\$	0.01307
Ending Inventory Balance	\$	8,859.53	17,700	\$	0.50054	\$	0.01375
Monthly Commodity Cost	\$	4,359.54	10,087.00	\$	0.43219	\$	0.01188
Current Month Gas Cost per cf	\$	0.01188					
	•	0.01100					
Tracker Adjustment	\$	0.01188					
2005 General Rate Case Approved	_						
Residential Non-gas Cost Margin	\$	0.00738					
Tracker Adjustment Gas Cost Tracker Adjustment	\$	0.01188					
D2015.1.12	\$	(0.00077)					
D2013.1.12	Ф	(0.00077)					
Current Residential Usage Rate	\$	0.01849					
0005 G 17 . 5							
2005 General Rate Case Approved	•						
School Non-gas Cost Margin	\$	0.00094					
Tracker Adjustment	\$	0.01188					
Gas Cost Tracker Adjustment D2014.2.19	¢	(n nnn <del>aa</del> )					
D2017.2.17	\$	(0.00077)					
<b>Current School Usage Rate</b>	\$	0.01205					